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SEBI Grade A English Language (Solutions) 
 

S1. Ans.(b) 

Sol. ‘announces, met’, fits the two blanks most appropriately. The meaning of some other words is: 

Promulgate means promote or make widely known (an idea or cause). 

Merged means combine or cause to combine to form a single entity. 

 

S2. Ans.(c) 

Sol. ‘endeavour, preserving’, fits the two blanks most appropriately. 

Endeavour means to try hard to do or achieve something. 

Preserving means to maintain (something) in its original or existing state. 

 

S3. Ans.(a) 

Sol. ‘growth, continues’ fits the two blanks most appropriately. 

Increment means an increase or addition, especially one of a series on a fixed scale. 

Abolishes mean to formally put an end to (a system, practice, or institution). 

 

S4. Ans.(c) 

Sol. ‘welfare, deceived’ fits the two blanks most appropriately. 

Deceive means to deliberately cause (someone) to believe something that is not true, especially for 

personal gain. 

 

S5. Ans.(d) 

Sol. ‘reward, volatility’ fits the two blanks most appropriately. 

Volatility means liability to change rapidly and unpredictably, especially for the worse.  

 

S6. Ans.(e) 

Sol. There is no error in the statement.  

 

S7. Ans.(c) 

Sol. Use ‘has’ in place of ‘had’ as present perfect passive verb should 

be used because ‘an old house’ in the past is converted into a ‘flat’ now. 

 

S8. Ans.(c) 

Sol. Use ‘hopes’ in place of ‘hope’ as in the sentence the subject 

‘campaign’ is singular.  

 

S9. Ans.(b) 

Sol. Use ‘awarded’ as the subject ‘A cash prize’ is passive hence verb 

should be passive too. 
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S10. Ans.(b) 

Sol. Use ‘for’ in place of ‘to’. 

 

Directions (11-15): The correct sequence is EADCB 

 

S11. Ans.(e) 

 

S12. Ans.(a) 

 

S13. Ans.(c) 

 

S14. Ans.(b) 

 

S15. Ans.(d) 

 

S16. Ans.(a) 

Sol. ‘Sugar-sweetened drinks do not’ is correct use as plural subject is followed by plural verb. 

 

S17. Ans.(d) 

Sol. ‘due to adoption (Noun) of unsafe procedures’ is correct use. 

 

S18. Ans.(c) 

Sol. The plural of audience is audience only. So, ‘with audience responding warmly’ is correct use. 

 

S19. Ans.(d) 

Sol. ‘good’ will be used in place of ‘better’ as when two persons/ things is compared in positive degree, 

then ‘so/ as + positive degree + as’ is used. 

Ex. Rakhi is not so/ as good as Venna.  

 

S20. Ans.(e) 

Sol. No error.  
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